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Code : 20SCO1T

1/ 11 Semester Diploma Examination, May/June-2024

ENGINEERING MATHEMATICS
Max. Marks: 100

Register Number

Time: 3 Hours
Instructions: (i) Answer one full question from each section

(ii) One full question carries 20 marks

SECTION-1
1 2 b
1) a)IlfA='3 4 thenfind A+ AT 4
21 —N 1 _
OR IfA=13 2)andB=13 —2! thenfind A+B
21
b) Find the Inverse of matrix A = 3 2 6
—H 4
OR Find characteristic equation and its roots for the matrix 2 3
¢) Using crammer’s rule solve the system of Equation
4x-3y=5Sand3x+y=7 5
1 2 1
if I3 -1 «x
OR  Solve for x 2 3 21=0
1 N_ 31
d)y 1fA=12 1 g=11 2! (hen find (AB)' 5

2 1
OR IfA= —A 0} verify A (AdjA) = _b__ Where 1 1s identity Matrix

SECTION-II

2) a) Find slope and y-intercept of the line 2x + 5y -3 =0
OR Write standard form of equation of straight line
i) general form  ii) point -slope form.
b) Find the equation of the straight line passing through the
points (2, -3) and (1,0)
OR Find the equation of straight line whose
x-intercept is 3 and y-intercept is 4.
¢) Find the Angle between the lines
3x+y+5=0and2x +4y-7=0
OR Find the equation of straight line
passing through (1,3) and slope 2
d) Find the equation of straight line passing through (3,2)
and parallel to the line 5x + 2y -3 =0

OR Show that the lines 3x -2y +2=0
and 2x + 3y + 7 = 0 are perpendicular

SECTION-111

3) a) Convert (1) _Nco into radian measure

1im

and (11) 3 radianinto degree

OR  Find the value nP;..Go using compound angle.



